N K
QK =97 2"
L
T'I*N _IJ 47 .
ARK a1 = -E:J " dual standard basis
J
I J =1 J i pi .
LAYl =1 § 1 =det T a™ :deth:InJ:I?]J
K
I
AVI-II_:-II_ 77]
I
I
at v 1
L _@ 1'-)177
I > NLJl
I NuI
R A
I
’ N v v N
a9 T 91 a1
A= L1 ub L :det(un_n_):detué :M(s
’ X o J i 3 J J J
=0 1Y 1T 1" =det 1 :deti5 —I5 =L1




1= 67 = det (wjﬂ) - A =3 (ave
M 1= 141 7
Z I
AV} =1 [77[
/\'ﬂl = (I}) 177]
Egﬁs{h?J i dual ONBasi
I oui 440 dua asis
t =t =t1

h?I/'T"#?J :h?f“IhHh?J :hj‘lhi*ohj’ Ian _ Inqzl-\:i? ?Ih?Jh?é

T>NLUI
I NuTI
w _ I
~t =t (=) 7
J N I>NSD g N N 1/2
wl 1
ST DR AN G VAN (VAT
1| =1J]|
N N
£ =cli
N N N N N N J N
=4 At =1 A¥L =¢ F, = LHS :E L=t ITPZ:E LEL
I I






- dual ONbasis

~ ~ ol
w =~ =T
r ~ \U
d.o JnT_ < >
[N %
I
S0~ ~ Nl
—— -
m
234
A
)



> NLJ
_1)

(

msb?_l _ h?_NI-I I




